il
lo
e
2
ol
flo
T
h)
fo =
g,
[
)
=
1A
T
o
k)

ulu] o oh4y o
Vg AL Bge RoglA n2A

SREEETE
30 40 50 60 70 80 90 100(%)

0 10 20

Lol v b bw by by b b b by

0):: AF B3 |ABH

ONR-| ® AY ® BY
@)AB ¥ ® L&

o
N

AB o] A9 15% 5 AASFER 71 Ao},




got] staLoll A 21 A A FHEAE

= 2
ofel g e] A Lol A G B Eoh 90 Y ), 530

Z‘iiﬂ —:Ji—f] T I:l
[ ]x0.45=90
[ ]=90+045
[]=200(%)

s|70]7} P& ;o

1o
=

€ 100 — (45 + 30 + 10) = 15( %)




&
=

@(4+4)x2x4
@ 4x4x6

® (4x4)x2+ (4x4)x4
@ (4x4+4x4+4x4)x2

® Axd+4x4d+4x4d+4x4+4x4+4%x4

AEuA Y Aol Lok B
@ 141 W] Hol o T
@ (RHel)x2+(@Hel)




ARV, 2 3
47 2 ol SR

(=] e

o H3A} |V

dojaluon) | AEEH | Toa)

[=3t] R 5 AH10%)
adacsn | aadeon | Y|,
oJ2}(5%)

® 207 ® 407 3)45 @ 50 ® 554

MY 1 300 x 0.4 = 120('8)

ZHd d9lS 5|9s
MY : 300 x 0.55 = 165('F)

29 A9l STt
165 — 120 = 45(8)




